ARFRRIARIZE T BERR—& (M)

(20154E)

<§BE>
S 2 kS
HESE ! 1ETHE SSHEPIER
s B 1 | zofs %2
e 6 5 1
N 39 8 20 10
Ha% 9 1 6 2
SEE 19 1 12 5
BET 11 7 4
Gl 12 1 8 3
NI 3 2 1
[EFRF 2 1 1
5% 3 3
BAIE 6 1 5
BT 123 8 105 10
=E151-r—>aoxib 18 2 4 12
&5t 251 23 178 48
<BF>
ARl 1ETE fﬂ%w'ﬂ
e BB %1 | zofh %2
e 3 3
NF 10 3 6 1
HEaT 3 1 2
g 13 1 8 4
BEY 8 5 3
EEa 6 1 5
BB 1 1
BATE 2 2
BT 99 7 85 7
=E151-r—>aoxib 7 3 4
&5t 152 13 120 19
<HF>
S 2 kS
HEGE ! ETHE SSHEPIER
e B %1 | zoft %2
e 3 2 1
pve= 29 5 14 9
Ha% 6 4 2
SEE 6 4 1
BET 3 2 1
Gl 6 3 3
NI 3 2 1
[EIFRF 2 1 1
5% 2 2
BAE 4 1 3
BT 24 1 20 3
=E151-/-v3oxib 11 2 1 8
=5 99 10 58 29
X1 FURICEEE - -sBilksizsS0
%2 TOM- - BIRES - BT ER - BB - R ESDEET




